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GCSE Modern Hebrew Listening commentaries

Foundation Tier

Question Response Commentary
20 X atn 5 | Non Verbal answers, follow mark scheme
,0'MIV0'N DNN .7
,MIann.3
n'7'on.6
Higher Tier
Question Response Commentary
26 namn Accept for — despite minor spelling error.
1 Mark.
27 oun Reject — missing letter affects the clarity of

response. 0 Marks.
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GCSE Modern Hebrew Reading commentary

Foundation Tier

Question Response Commentary

9.1 2w | Reject- although swapping the letters 2 and 1
are a common error, here it changes the
meaning of the word. 0 Marks.

9.2 1 R | Reject- there is no mention of the key word
“ny”. 0 Marks.

9.3 .02l 2IX | Accept — 2 marks — 2 items mentioned.

9.4 .n9' XIn | Accept — 1 mark.

Translation

Foundation Question 13

Student’s responses Mark Commentary

My father and mother say 1

| have to learn 0 Omission of ‘that’

if | want 1

to get a good job 0 Wrong verb (to find)

| said to them that | love to play football 1

every day with my friends 1

| did not learn 0 Omission of ‘for the exams’

because after school 1

| want to be a footballer. 1
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GCSE Modern Hebrew Reading commentary
GCSE Reading Higher Tier

Question Response Mark Commentary

12.1 .monn N 17 anta X7 | 1

12.2 .Mm 17 nantaw dnRn |0 Reject- He found one
after he remembered.

12.3 XX N e on |0 Reject- the question asks
how they felt, not what
they did.

12.4 .nnn nx nnpe |1

12.5 .nInn7 1voa on | 1

12.6 JiTima | 1

Translation

Higher Tier Question 13

Student’s responses Mark Commentary

| live next to the uni 1 Accept ‘uni’ for University

with students 0 Omission of flat’ , incorrect translation

| study law in the university 1

Because | want to be a lawyer in the future 1

Last year after school 0 The verb ‘finished’ is missing

| worked in a summer camp for children 0 Omission of ‘as a guide’

| liked very much to play with the children and to tell | 1

them stories

Next summer holiday | will maybe go to London 0 wrong verb fly’ translated as ‘go’

And visit my friends that live in town. 0 ‘City centre’ is wrongly translated as
‘town’
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GCSE Modern Hebrew Writing commentaries and marks

Foundation Writing Question 1

Responses Mark Commentary

P12 NNNKR IR Ndwnn | 1 The first word is missing a letter, but can be
understood from the context and the verb does not
agree with the noun. The message is clear and
relevant , but with some delay in communication.
One mark out of two.

NNOYNN 0y 0'73IN XN210I X210 | 2 Message conveyed without ambiguity.

nN'o 0'DIN DN | 2 Short but clear message.

M D'DIRDN | 2

Total marks achieved: 7

Foundation Writing Question 2

.227Y2 P NI NXPIE O DN DT 079N N7'AL 0Y7WNT 1INIR 7KW YINA Y DNOWN DY 1IRI WOIN 117 W' 'UNN
LTINND 210 72IRN1 YINQ DDA DNYA WY UTIND DT D701 N7'WA D1I7AN .0 7D TINN ON AT N7'Wa
.TINA NN X .0 70 D21 DD DAY 71 1INIX INTD NWOINA

Content

The student provides full coverage of the 4 bullet points in the question in approximately 50 words. The
intended meaning is consistently clear. The content sits well with the level 5 descriptor and the award of full
marks.

Marks awarded: 10

Quality of Language

The answer includes some longer connected sentences and vocabulary is appropriate to the task. There are
some spelling errors and a few grammatical errors such as the omission of the definite, n, a wrong use of
(irregular) plural p+aitn, and one wrong attempt at using a verb ninn x.

To determine the level we can rule out with certainty Level 1, as the answer does not include any inappropriate
vocabulary or structures and errors are not frequent. At level 2, vocabulary and grammatical structures are
more accurate than inaccurate and at level 3 ‘generally accurate’.

The ‘generally accurate’ description fits better than the descriptor at level 2, as all the vocabulary is
appropriate, noun adjective agreements and sentence structure are correct. However, the marks awarded will
not be at the top of level 3 due to the few grammatical errors. 5 marks are awarded.

Total marks achieved: 10+5= 15
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Foundation Writing Question 3

™ 79 NRN.1

190 N2 NI N22IXR TI? IR.2

|'T170 NI9X7 2NIX 1IR3

NODI NIV W' 7w 1 TNA4

17U DMANN DY 7IR9Y7 'MD7IN 70A [IkwN D15

Conveying key messages
All 5 sentences are translated and the messages are conveyed clearly, therefore it fits well the level 5
descriptor and a mark of 5 is awarded.

Application of grammatical knowledge of language and structures

Despite a couple of spelling errors: Ixwn ,n"2a'x, we can find that on the third sentence the candidate replaces
the cognate MH word for television with a transliteration of the word from English and omits the preposition a
that should follow the infinitive niox?7 .

On the last sentence, the candidate is trying to form the past tense using the present tense and adding the
(correct) suffix for the pronoun, this results is an inaccurate verb formation.

As a whole, the work is generally accurate with correct sentence structure. Therefore, 4 marks are awarded.

Total marks achieved: Overall mark: 5+4=9
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Higher Writing Question 1

INYI1 12N '7 ¥' .NNM22 NNYWY IX 010 7V 11017 1IN NI7IYS NYIY?7 2NIX "IX 02 .7 11970 [NT2 V1902 7I0Y7 ANIN "IN
J11'¥M UNNYT 9012 ,0'"N X710 XIN DAL, TIRA DON KD YT XN D2ALLNI7IND 0N 17 WLTINAG 7172 NI 78

DY 11207 )2 WNKX 1K "YYW DMANN DX DALL,NT DX 'NXAE,"anT *29",010%7 1070w DMann oy vibrh 'mo7n NNy
i
TIRPY DT 129371, NN 09IN

.D"INXR D'11WAL 7271721 190N N 7V 12T7 DAL,010 PNYWY 2197 0MAN OV NY77 NXIX N ,NK2N VIAYD 9102

Content

The student has covered the 4 bullet points of the question reasonably well in 90 words.

A lot of information is conveyed clearly despite some misspelt words which may cause some delay in
communication. The last paragraph, covering the fourth bullet point, is less developed than the rest, however
some imbalance in the coverage is acceptable provided there is at least some coverage of all points.

The response is detailed, giving a lot of information about his favoured activities, describing his friend’s looks
and personality, giving details of the film he watched lately and what he and his friends did after going to the
cinema. He has also given details of his intended activities for the next weekend. On the whole, the response
provides a lot of information, so it fits better with level 5 than level 4, however although the student uses the
words ‘I like’ and ‘I enjoy’ a few times, some more complex expression of opinions is missing and therefore, 9
out of 10 marks are awarded.

Quality of Language

The student uses a variety of appropriate vocabulary and many longer sentences with simple connectives (
...Ind ;1x ,0a1). Although there are 2 errors in the formation of the infinitive (nwiv?, nnw?%), and some incorrect
use of prepositions (nT Nx 'M1n1 ,0M9IX DY 11201) the candidate uses present, past and future tenses correctly
and correct noun adjectives agreement. The descriptor for level 3 fits this response best, but one mark below
the top for this level is appropriate. 5 marks are awarded.

Total marks achieved: 9+5=14
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Higher Writing Question 2

D270 DN7 W' D NI NIRY 10D 72IX 710K 1IN NNK 9127 210W XM 721K 728 NNRY 'NNDN AT RN D7 D
.0V N7 DNTIVY

[ITYINA 72N NIFRY NXN X7 NNR DY N2 WD NIYYT TWON XM NIFN7 01' 75 WID 2IWY'7 X DA NNX XM 7DIR OX
YD

NI'NY7 210 TR NP NT 72K ,0NNY DRI DNT 917 210 DN 72200TD IR 70717 11D VIO 'ZNOoN 70NY7I 7192 Y7 710 NNX
AP IN DN T N DT OX N YINQ DW2A TP DR YD NIYY7 17 AWOKRN NT ' WID |ITYIN] 1an

D'0N0 NIXT7 ANIXK IR 7Y 119 [T .19 AT 172" D710W AIWN TIVA DA DT DI 70 WWID NIYYY 0710 X7 D'WIR 7AX
.UNnwa NI'n% Yind NIFfN7 2NN DA X .01'"yn D90 XNpRYI

INI 0N DN 0% 91N 0NN [N2TA W' 0NN [NDTA YRIYA N 117 W' .pan7 NONK Y7 0'yon "y nnoswnnl Ix 0'ysy
.NINYI 9127 210 TINA DT DY 1INIXWD NI'WA 117 'R 1D AT N2N 117 W' .0 NIDOoY

Content

This response includes information which is all relevant to the task. The communication is clear with only a few
lapses.

There is some development of ideas with reasons n12% o Tivw (D1IA7N DN W' D 0TI WA 7DX7 21WN DA
.0"wY), simple opinions with no reasons (wnwa nirn?1 yina ni'n7 anIX X, XNjp7 2NIX X D'1'YN DN190)
but no developed opinion and little information on the importance and reasons for having a healthy lifestyle.

As all information is relevant and more than ‘sometimes clear’, it is clear that the response is above level 1 and
level 2.

Level 3 descriptor sits well with this response, as at level 4, the student has not fulfilled the requirement for
justified opinions. 9 marks are awarded.

Range of language

The candidate uses appropriate vocabulary for the task in longer more complex sentences using connectives
and the conditional ( ..I PaX92 YN7 712' NNX WD [ITVINA AN NIFfM7 QXN X7 NNIR DX )

and these are mostly successful and so is the use of infinitives, verbs in present tense and future tense( aiwn
119 a7 1727' 07Dw). However, there is no use of the past tense which is required by the second bullet point.
The writing is mostly coherent with only an occasional lapse ( ...'> WD [ITVIN2 12N NN 210 "™ NP AT 72K)
This fits well the description of level 3. 9 marks are awarded.

Accuracy

The writing on the whole is generally accurate with some minor errors(nx/ny) and the occasional more
significant error (210 DNl ,0"MW N7 ).

This fits well with the descriptor of level 4. 4 marks are awarded.

Total marks achieved: 9+9+4=22

10
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Higher Writing Question 3

NNOYN DY NINMK 9TyN X .0 MY 1INIXR ,NNINKD DRI QWO 721X 170X NNIX.'7W 1127 0'Man 'Manth X Nava
¥ UTN NDINYN NIRYY WA 7202 IXTINT 771 11NN Y K20 172N "IN LKAV [IUXRD DI .[*2yn NI RIN D 0Nant
.D0NI9N [NIX 7Y DY

Conveying key message
The student’s translation conveys all key messages clearly. 6 marks are awarded.

Application of grammatical knowledge of language and structures

All key messages are translated correctly and with an accurate choice of vocabulary which indicate the
student’s very good knowledge of vocabulary. Sentence structure is correct, however, there are a few
grammatical errors in the use of the past tense Nw nnax , 17X 11NIX, missing prepositions™w X120 AN 1K, and
noun adjective agreement ,wTn NdINyN.

Looking at the response as a whole, it seems that it meets level 4- ‘generally accurate’ better than level 5-
‘highly accurate’. A mark of 4 is awarded.

Total marks achieved: 6+4=10

11
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GCSE Modern Hebrew Speaking test commentaries

Foundation Role-play 6

Task Commentary Marks

1 The student explains where he likes to go on holiday. The message is 2
communicated clearly.

2 The unprepared task is tackled well and communicated clearly. 2

3 The student gives details of his favourite activity on holiday. The message is 2
communicated clearly.

4 A simple opinion is expressed and explained. 2

5 Despite minor pronunciation inaccuracy, the student formulates an appropriate | 2
question.

Knowledge and use of language

All the tasks are accomplished. The student has demonstrated very good knowledge and use of language and
is awarded five marks.

Communication Knowledge and use of language Marks

10 5 15

Higher role-play 12

Task Commentary Marks
1 The student explains his plans for next September. 2
2 The unpredictable task is tackled very well. Despite one grammatical error, the | 2

message is clear.

3 The student gives a fully justified opinion. 2
4 The message is communicated clearly. 2
5 The question is formulated clearly. 2

Knowledge and use of language

All the tasks are accomplished. The student has demonstrated very good knowledge and use of language and
is awarded five marks.

Communication Knowledge and use of language Marks

10 5 15

12
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Foundation Photo card B

In general all responses are relevant and the student has replied to all questions with clarity. In response to
question one, the student has replied: "nTiaya n'wax nxin X" which is a very brief description of the photo. In
question two, a simple opinion is expressed and explained and question three is the most developed answer.
Although most answers are brief, there is some evidence of development. A mark of eleven is appropriate.

Higher Photo card H

The student has given an assured performance producing developed and detailed responses. Despite some
grammatical and pronunciation errors, the information is conveyed clearly throughout the test. The student
attempted to develop most tasks beyond the minimum requirements. Opinions are expressed and explained
skilfully. A mark of fourteen can be awarded.

13
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Foundation General conversation

Communication

The student has responded to all the questions well and extended most of his answers. There is an occasional
lack of clarity due to grammatical inaccuracies. The student has not met the requirement to ask a question of
the teacher which results in one mark being deducted. However, the overall performance demonstrates the
features of the top band, therefore a mark of nine is appropriate.

Range and accuracy of language
The student has used good language and attempted successfully to use simple and some more complex
structures. References to the past and future tense were successful. A mark of nine is awarded.

Pronunciation and intonation

Pronunciation and intonation are generally good with an occasional lapse. The description of Level 5
‘Generally good but some inconsistency at times’ seems to fit the overall performance and a mark of five is
awarded.

Spontaneity and fluency

There is a good exchange in which the speaker shows some spontaneity and some reliance on pre-learnt
responses. Apart from occasional use of repair strategy, the flow of speech is very good. A mark of five is
awarded.

Communication Range and Accuracy | Pronunciation and Spontaneity and Total Marks
Intonation Fluency

9 9 5 5 28

14
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Higher General conversation

Communication

The student consistently develops responses in extended sequences of speech. He manages to convey all the
information confidently. The requirement of the student to ask a question is not met which means one mark is
deducted. The overall performance has clear features of the top band and a mark of nine is justified.

Range and accuracy of language

The student has used excellent language with a wide variety of linguistic structures and a wide range of
complex vocabulary. Reference to past, future and present events are made confidently. Some minor
grammatical errors occur, especially in the use of more complex structures without impeding communication.
A mark of nine is appropriate.

Pronunciation and intonation

Good pronunciation and intonation with some occasional lapses. A mark of four is awarded.

Spontaneity and fluency

Very good exchange in which the speaker responds promptly with a good flow of language with some pre-
learnt responses and some natural reactions to the questions at a moderate speed. a mark of four is
appropriate.

Communication Range and Accuracy | Pronunciation and Spontaneity and Total Marks
Intonation Fluency
9 9 4 4 26

15





